myAlgorithm.cpp

#include <iostream>
#include <string>
#include <algorithm>
#include "myAlgorithm.h"

/*
(1) [iJHPBIEE

(1) find(beg, end, val) [/ BIEEACH, RG] 15 € I0 # A A
(2) find_if(beg, end, unaryPred) //i&[F%—1N# & unaryPred 17702  HI/EIZE(CH
(3) count(beg, end, val) [/ B[] —Hf E A
(4) count_if(beg, end, val) 1/ IBEFER— I Z D1
(5) search(begl, endl, beg2, end2) /] TIF5Y 2 7750 1 b i &
(6) find_first_of(begl, endl, beg2, end2) //K[EFH INFIFEITLEFAT T EEH A H I E
(7) find(begl, endl, beg2, end2) // Flsearch /<, B[R 7—"1NH BT 7 /72 1710 &

(2) HMHEEEE
(1) for_each(beg, end, unaryOp)  //X/EE170 (& AT 1A 5
(2) equal (begl, endl, beg2) /1 UERIGA ST IYEE 0 255 F beg2 TF4EHI/TFAYMZE, TR [F] true

(3) ZHHHEFL
(1) Lower_bound(beg, end, val) /B A1 75 ] F— D FEET val [
(2) upper_bound(beg, end, val) // B A5 — AT val HECH
(3) equal_range(beg, end, val) /B L1 pair G5 LI LRI E0K 10 24

(4) GEHE
(1) B A4

(5) G5 577%
(1) is_partitioned(beg, end, unaryPrey) //ZHEFAHIER, PHEENT, WKFE true, T4 true
(2) partitioned_copy(beg, end, destl, dest2, unaryPred)
/[ FR A T TG K destl 1, JEAEEFEN A dest2 1, iR [E—1 pair
//,first 75/a destl #74/E, second 75/ dest2 HIFK/E



(6) HE/FHEEL

(1) sort(beg, end) /GBI

(2) stable_sort(beg, end, comp) // BEHF

(3) is_sorted(beg, end) // 87 bool , FAETHITF

(4) is_sorted_until (beg, end) 1/ B RAKA 7T/ IIIE %A

(5) remove(beg, end, val) /IR IC val, B [AITE MR R T — 170 21T T

(6) remove_1if(beg, end, unaryPred) //MEiHEIE AT IGZ, BEITEHMGR G — 10515 CH

(7) unique(beg, end, val) /) BHTLE, T ERILEEHERANEL /7O E TR, —MH sort 27
1/ TEHZ 70 25 R LT RAAEL F/FA T, 2T AT L&/ erase Mk

(8) reverse(beg, end) /) 7

(7) RBARPEFVE
(1) min(vall, val2)
(2) max(vall, val2)

(3) min_element(beg, end) / /R [E] 75 ] a2 E T EAC A

(4) max_element(beg, end) /1 B [E175 ] 5 K AE H95C A

(5) minmax_element(beg, end) //& /A pair 75/ (min, max) HIHINECHE
(8) g5 7%

(1) accumulate(beg, end, init) /KB, init BEPE, &EF

*/

void myAlgorithmTest()

{

std::cout << "-----mm this is class Algorithm demo------------------------ " << std::endl;
}
myArray.cpp

#include <iostream>
#include <string>
#include <array>



#include "myArray.h"

/*
(1) fig: std::array<int, 5> myArr = {2, 4, 6};
(2) WHHHE: size(), maxsize(), empty(), operator[](), at(), front(), back(), swap(),
(3) #FHHIE: data(), fill()

*/
void myArrayTest()
{
std::cout << "-------- this is class array demo---------- " << std::endl;
std::array<int, 10 >myArray = { 3, 5 };
for (auto tmp : myArray)
{
std::cout << tmp << std::ends;
}
std::cout << '\n’;
/1 PRIEAF T — 1T
auto p = myArray.data(); // R [AIEAH 510 F HITE £
std::cout << *p << std::endl;
}

myDeque.cpp

#include <iostream>
#include <string>
#include <deque>
#include "myDeque.h"

/*
[/ FFRT: TFREVL LT, A LU AT A FUMIBREE T, 7 P Zi i AR 1 e 4R 4T
(1) BYE:
(2) WB/#A(E: push_back(), pop_back(), insert(), erase(),
clear(), swap(), empty(), back(), front(), at(), []
(3) 4¥H#/E: push_front(), pop_front()



*/
void myDequeTest()
{

std::cout << "----- this is class deque demo--
std: :deque<int >myDeque = { 3, 5, 7 };
for (auto tmp : myDeque)

<< std::endl;

{
std::cout << tmp << std::ends;
}
std::cout << '\n’;
myDeque.push_back(9); /[ TEBA I SE S5 0 3
myDeque.push_front(1); /1 TEB AL e 0 2

std::cout << "after pushing, myDeque is: \n";
for (auto tmp : myDeque)

{
std::cout << tmp << std::ends;
}
std::cout << '\n’;
/>I<
insert() /K :
(1) insert(p, t) /) EECH D Z BTG —TME At B IE 75 19 BN 70 25 195 T

(2) insert(p, b, e) [//J/FE(CH[b, e) J5EHITLEIFALp i &, KEFH—NEA T Z & CH
/) KT EACaFE T A AT L !
*/
auto ret = myDeque.insert(myDeque.begin() + 1, 2);
std::cout << "after inserting, myDeque is: \n";
for (auto tmp : myDeque)
{

}

std::cout << '\n';
std::cout << "IR[EEARIRHIMIICE A
std::cout << *ret << std::endl;

std::cout << tmp << std::ends;



auto retl = myDeque.erase(ret);

std::cout << "after earsing, myDeque is: \n";
for (auto tmp : myDeque)

{

¥

std::cout << '\n’;

std::cout << "R[FEAIRAITICE
std::cout << *retl << std::endl;

std::cout << tmp << std::ends;

}

myForward_list.cpp

#include <iostream>

#include <string>

#include <forward list>

#include <iterator> // H AT advance B4, L) Cas B a5 &K/
#include "myForward_list.h"  // /)it

#include "myList.h"

/*
(1) M-
(2) WBHK#: empty(), front() , swap(), clear(),
push_front(), pop front(), reverse(),
(3) #54K#¢: inert_after(), erase after(), before begin(),
remove(), remove if(), unique(), sort(), merge(),
*/

void myForward_listTest()
{

std::cout << "----this is class forward_list demo---" << std::endl;
std::forward_list<int> myForward_list = { 1, 3, 7, 5, 5 };
std::cout << "the front of myForward list is : " << myForward_list.front() << std

::endl;

//front #



myForward_list.push_front(9);
for (auto tmp : myForward list)

std::cout << tmp << ' ';
std::cout << '\n’;
/>I<
Lst.insert_after(p, t) [/ EEACH p ZIGHINETEATCZE t, B AI7E A TG 2195 C 7

Lst.insert_after(p, b, e)  //7EEfCHEp ZITHAGENb, e) T, BIRE— I FFEA GRS CH
*/

auto iter = myForward_list.before_begin();

std::advance(iter, 1);

[/ IR FT ELEH iterator 7 advance mEECAsHE 1T i
myForward_list.insert_after(myForward_list.before_begin(), 9);

//Uist Flforward List BN L+, - HE1E, HE2 L+, (--) HF

std::cout << "after inserting , myForward list is : " << std::endl;

for (auto iter = myForward_list.begin(); iter != myForward_list.end(); ++iter)
{

std::cout << *iter << std::ends;

}

std::cout << '\n’;

myForward_list.erase_after(myForward_list.before_begin());
/) EECH p ZIGHI ETA TG Z t, B [FI75 /A TG Z 195 CA
std::cout << "after erasing , myForward list is : " << std::endl;

for (auto iter = myForward_list.begin(); iter != myForward_list.end(); ++iter)
{
std::cout << *iter << std::ends;
}
std::cout << '\n’;
//myForward_List.remove(9); /) MR R — i (0 2
//myForward_L1ist.remove_if(is_odd); /) FEIREN B ITFMF R —TE 3
myForward_list.unique(); /) B R
std::cout << "after unique , myForward list is : " << std::endl;

for (auto iter = myForward_list.begin(); iter != myForward_list.end(); ++iter)



{
}

std::cout << '\n’;

std::cout << *iter << std::ends;

myForward_list.sort(); 1/ X BERE A T T
std::cout << "after sorting , myForward list is : " << std::endl;

for (auto iter = myForward list.begin(); iter != myForward list.end(); ++iter)
{

std::cout << *iter << std::ends;

}

std::cout << '\n’;

}

myList.cpp

#include <iostream>
#include <list>
#include <string>
#include "myList.h"

/*
(1) P
(2) /1 K#¢: push_back(), pop back(), empty(), clear(), swap(), insert(), erase(), reverse()
(3) 15472 /F: push_front(), pop_front(), merge(), remove(), remove if()
*/
bool is_odd(const int x) /) 72— 1]
{
return (x % 2 == 1);
}
void myListTest()
{

std::cout << "------ this is class List demo----
std::list<int >myList{ 3, 5 };

<< std::endl;



myList.push_back(7);

myList.push_front(1); 1/ XU R 5 F L P Bt A TR
std::cout << "after push, myList is : " << std::endl;

for (auto tmp : myList)

{

}

std::cout << '\n’;

std::cout << tmp <« ;

/) TN BRIEFIR AT — 1, EUL A5
auto ret = myList.insert(myList.end(), 9);
std::cout << "after inserting, mylList is :
for (auto tmp : mylList)
{

}

std::cout << '\n’;

<< std::endl;

std::cout << tmp <« ;

std::list<int >myListl = { 2, 4, 6, 8 };

myList.merge(myList1); /)G EITRER, HILZFLER, G EHTaER, & —FH
std::cout << "after merging, mylList is : " << std::endl;

for (auto tmp : mylList)

{

}

std::cout << '\n’;

std::cout << tmp <« 5

myList.remove(8); // WP % 5T 8 H T
std::cout << "after removing, mylList is : " << std::endl;
for (auto tmp : mylList)

{

}

std::cout << '\n';

std::cout << tmp <« 5

//remove_if () // 45 EHK IR, MG

Bt

AN 11 41
L tH



myList.remove_if(is_odd);
std::cout << "after remove if(is odd), myList is :
for (auto tmp : myList)

<< std::endl;

{
std::cout << tmp << ' ';
}
std::cout << '\n';
}
myMap.cpp

#include <iostream>
#include <string>
#include <map>
#include <iterator>
#include <stdio.h>
#include "myMap.h"

/*
(1) Hi&: std::map<string, int>, std::pair<string, int>, std::make_pair(vi, v2)
(2) #F5k##(E: first, second, insert(), erase(), count(), find(), operator[]();
*/
void myMapTest()
{

std::cout << "--------- this is class map demo--------- << std::endl;
std: :map<std::string, int>myMap;

std::pair<std::string, int>("hello", 1);
std: :make_pair("world", 10);

auto myPairl
auto myPair2

/*
//insert &lEj—1 pair, first & — P EC75/A G405 E KEFHIE, second #&2—71 bool #,
A true WZENTEA LY,
//E R false JZERITARIM, W L2257 7, TIZiEaF4 U, HEETF3)HT++
m.insert(e); // A pair X/ 5
m.insert(beg, end); /7 FFE A 1970 % 7



m.insert(iter, e); //unknow
*/
auto retl = myMap.insert(myPairl);
if (retl.second)
std::cout << "insert successfully\n";
printf("%s---->%d\n", retl.first->first.c_str(), retl.first->second);
auto ret2 = myMap.insert(myPair2);
if (ret2.second)
std::cout << "insert successfully\n";
printf("%s---->%d\n", ret2.first->first.c_str(), ret2.first->second);

for (auto iter = myMap.begin(); iter != myMap.end(); ++iter)

{

}
printf("\n");

printf("%s---->%d\n", iter->first.c_str(), iter->second);

++myMap[“word" ]; /1 TEH FRRETE7F, AN, T EIERr e E X (word, 0)
std::cout << "after operator[], myMap is : \n";
for (auto iter = myMap.begin(); iter != myMap.end(); ++iter)

{

printf("%s---->%d\n", iter->first.c_str(), iter->second);

¥

/*
m.erase(R); 1/ WIBR KA kR 1970 35
m.erase(p); /1 WIEREACHE p #7109 70 7
m.erase(b, e); 1/ W I P 19 7 %

*/

myMap.erase("word");

std::cout << "after erasing, myMap is : \n";

for (auto iter = myMap.begin(); iter != myMap.end(); ++iter)
{

}

printf("%s---->%d\n", iter->first.c_str(), iter->second);

-

unsigned cnt = myMap.count("hello"); /) B KA FHIZE T

// A pair

57



printf("hello occurred %d times\n", cnt);

std::cout << "find keyword hello : \n";

auto ret3 = myMap.find("hello"); / /I8 [E] Tt FHIEAC A
printf("%s---->%d\n", ret3->first.c_str(), ret3->second);

}

mySet.cpp

#include <iostream>
#include <stdio.h>
#include <string>

#include <set>

#include "mySet.h"

/*
/) I 702 AR 1T H 5077, set NG HEH, 2 1EFLE TTH
(1) M-
(2) FHEE(E: empty(), insert(), erase(), size(), swap(), find(), count(),
(3) #5412 (F: equal_range(), Lower bound(), upper _bound()
*/

void mySetTest()
{

std::cout << "----this is class set demo------- << std::endl;

std::set<std::string >mySet = {"a", "b", "c"};

/*
//insert &/e[—1 pair, first &— P &ECa15/RAH 5 E KT HIEH, second &1 bool #,
Z A2 true B ZEnTHA KLY,
/) Z K false WZERTFEATI, W EL 577, WiZiFa 4 A
m.insert(e); //HEA pair X/ 5
m.insert(beg, end); /1 FEEE A 97T 2 A A



m.insert(iter, e); //unknow

*/

bool flag = mySet.empty();

auto ret = mySet.insert("d"); // A
std::cout << "after inserting, mySet is : \n";

if (ret.second)

{
for (auto tmp : mySet)
std::cout << tmp << std::ends;
¥
std::cout << "\n";
auto retl = mySet.erase("d"); 1/ Wk %

for (auto tmp : mySet)
std::cout << tmp << std::ends;
std::cout << "\n";

auto ret2 = mySet.find("a");
if (ret2 == mySet.end())

std::cout << "dont find it \n";
else

std::cout << "find it \n";

unsigned int cnt = mySet.count("a");
printf("a occurred %d times", cnt);

std::set<std::string>::iterator iter_beg = mySet.lower_bound("a");
std::set<std::string>::iterator iter_end = mySet.upper_bound("a");
/) L E TR Lower _bound, upper _bound)

}
myStackAndQueue.cpp

#include <iostream>
#include <string>
#include <stack>



#include <queue>
#include <stdio.h>

#include "myStackAndQueue.h"

<< top_num << std::endl;

<< top_numl << std::endl;

/*
(1) Mi#: std::atack<int >myStack;
(2) WIHHIE: empty(), size(),
(3) 457 #R(F: pop(), push(),top(),
*/
void myStackTest()
{
std::cout << "---------- this is class stack demo---------------
std: :stack<int >myStack;
myStack.push(1);
myStack.push(2);
myStack.push(3);
int top_num = myStack.top();
std::cout << "the num of myStack is: "
myStack.pop();
int top_numl = myStack.top();
std::cout << "the num of myStack is: "
}
/*
(1) M.  std::queue<int> myQueue;
(2) FHEE(E: empty(), size(), front(), back(),
(3) 1561 /E: push(), pop(),
*/

void myQueueTest()

{

std::cout << "

<< std::endl;

// L E

//FETIC &

::endl;



}

std: :queue<int > myQueue;
myQueue.push(1);
myQueue.push(2);
myQueue.push(3);

int front_num = myQueue.front();
int back_num = myQueue.back();

printf("the front and back num of the myQueue :

myQueue.pop();

myQueue.pop();
int front_numl = myQueue.front();

int back_numl = myQueue.back();

printf("the front and back num of the myQueue :

myString.cpp

/*

SEH string HHIHELF
(1) Hit, JfE:

(2) FALE(E: size(), empty(),

// A B
1/ B It %
1/ B I TG %
%d and %d \n", front_num, back_num);

/) HH CE AR AT

%d and %d \n", front_numl, back numl);

push_back(), pop back(), insert(), erase(), clear();

(3) string %54 #1F: substr(), append(), replace(), find() #%ik#¢, compare()

*/

#include <iostream>
#include <string>
#include <string.h>
#include "myString.h"

void myStringTest()

{



std::cout << "--------- this is class string demo-------------------------- << std::endl;
std::string strl = "hello world";

std::cout << "the length of strl: " << stril.size() << std::endl;

strl.push_back('!"); /[ TESE IR 17

std::cout << "after pushing, strl is: " << strl << std::endl;

auto ret = stril.insert(strl.begin() + 5, '@");
/) BEZIACaF A T I I TG 70 ZF /951 C A
std::cout << "after inserting, strl is : << strl << std::endl;

std::cout << "FHANIR[IFIEACE AR " << *ret << std::endl;

auto retl = stril.insert(6, "#"); /AU FIr G AT

/B EITEIA L T strl FT9//, id1E-777 % T 0 TF45 17
std::cout << "after inserting, strl is : << strl << std::endl;
std::cout << "IRARFIFEA: " << retl << std::endl;

auto ret2 = strl.erase(strl.begin() + 5); [/ 2 /U AT, 25 i e 52 i U
std::cout << "after earsing , strl is: " << strl << std::endl;
std::cout << "IR[EIPEECEHRIIUCE N " << *ret2 << std::endl;

auto ret3 = stril.erase(5, 1); /) B IR, BERMIF S B SR IE 252 I 9 5
std::cout << "after earsing , strl is: " << strl << std::endl;

std::cout << " IIECEIRICER N " << ret3 << std::endl;

//string s.substr(pos, n) //n Z#K, F4E/E

std::string str2 = stril.substr(@, 5); /IO T, KRS B, 25 K, WU LR E
std::cout << "after substr, str2 is :" << str2 << std::endl;

stril.append("!!!"); 1/ TELEFIR NI T4

std::cout << "after appending, strl is :" << strl << std::endl;

//string &s.replace(range, args) // ¥ range TEERHITTE, Biargs, HLIF—FK
/B0 L

strl.replace(5, 1, "###"); //(pos, len, str)/Ei{

std::cout << "after replace, strl is : << strl << std::endl;



strl.replace(strl.begin() + 5, stril.begin() + 7, "%%%"); //(iteratorl, iterator2, string) /7
std::cout << "after replace, strl is : " << strl << std::endl;

//s.compare() , HAistidES—1tir, £ 7 thid ™t

strl.compare(str2);

/*

find FIw £

(1) s.find(args) /) Bt s 17 ‘*ﬂ&u@fﬂﬁ7//éf R[] 1 T — PN R
(2) s.rfind(args) /) BHR T

(3) s.find_first _of(args) //#s H“??ﬁ€args HLE ] — PN 55— K H I B
(4) s.find_last_of(args) //iFs H&7#E args FHEMA— 1 FHFR G — K H BRI E
(5) s.find_first_not_of(args) //#t's T E&#HFE A args THI 71

(6) s.find_Last_not_of(args) /) BHR 7 — N args T

*/

auto pos = stril.find(str2);
std::cout << "str2 is at the pos :
std::string numbers("01234556789");
std::string name("r2d2");

auto posl = name.find first of(numbers);
std::cout << "number first at the pos :

<< pos << " of strl" << std::endl;

<< posl << " of name" << std::endl;
if (strl.compare(str2))
std::cout << "strl > str2" << std::endl;

}

myVector.cpp

#include <iostream>
#include <string>
#include <vector>
#include "myVector.h"
#include "myVector.h"
/*

SEH string w5 W HIHE(E



(1) P& JifE:
(2) BAHSE: size(), empty(), push_back(), pop_back(), insert(), erase(), clear(), swap();
*/

void myVectorTest()
{

std::cout << "----------- this is class vector demo------ << std::endl;
std::vector<int> myvec = { 1, 3, 5, 7, 9 };

std::vector<int> myVecl = { 4, 6, 8 };

std::cout << "the length of myVec: " << myVec.size() << std::endl;
myVec.push_back(0);

/! ELEAIRNIFHT

std::cout << "after pushing, myVec is:
for (auto tmp : myVec)

<< std::endl;

{
std::cout << tmp << ' ';
¥
/ *
insert() K7 :
(1) insert(p, t) [/ & Car p ZHTGIE —TMEDy t, BTG BRI 77 HIE Ay
(2) insert(p, b, e) [/ FEC#b, e) TEENTLFIMALp Frifli&, REZFE— AT ZEHIECH
(3) insert(p, il) /AT HITCZETGA B[ 5 —THGA T Z HIE T
/] e FrEACHE O ALV IFL ] !
*/
auto ret = myVec.insert(myVec.begin() + 1, 2); /)AL TLE, KAZIT F ST
std::cout << "after inserting , myVec is : " << std::endl;
for (auto tmp : myVec)
{
std::cout << tmp << ' ';
}

std::cout << "IR[FEIPIECEME A " << *ret << std::endl;

auto retl = myVec.insert(myVec.begin() + 1, myVecl.begin(), myVecl.end());
/AR ITCZ, B FE— AT ZFE(
std::cout << "after inserting , myVec is : " << std::endl;



for (auto tmp : myVec)

{
std::cout << tmp << ' ';
}
std::cout << "IR[FIECEEN: " << *retl << std::endl;
/>|<
insert() /K7 :
(1) erase(p) /) BIREACE p FriFor &, R TF—1 0 95 C#
(2) erase(b, e) /) WA CA b, e) TEE T %
/) KT IEACHEETE AR 7! !
*/

auto ret2 = myVec.erase(myVec.begin() + 1);
/1 R AL AR 76 17 970 75

std::cout << "after earsing , myVec is :
for (auto tmp : myVec)

{

}
std::cout << "IR[FIECEHE A " << *ret2 << std::endl;

<< std::endl;

std::cout << tmp <« ;

auto ret3 = myVec.erase(myVec.begin() + 1, myVec.begin() + 4);
/1 38 [ A CaF X 75 e T 7 1 P Y 70 %

std::cout << "after earsing , myVec is :
for (auto tmp : myVec)

{

}
std::cout << "[IIECETN: " << *ret3 << std::endl;

<< std::endl;

std::cout << tmp <« 5

std: :swap(myVec, myVecl);

/! LB BEa I FESESEE LI AT
std::cout << "after swapping , myVec is :
for (auto tmp : myVec)

{

<< std::endl;

std::cout << tmp << ' ';



}

std::cout << '\n’;

}
STL.cpp

/********************************************************************************************************

Copyright: wuyong

Author: wuyong

Date: 2018-05-16

Description: KPIFELEHE T C++ [T STL I E L5 R FVLHTIEHT R, 4112 i 9 72 e LT )

*********************************************************************************************************/

#include <iostream>
/*************************************************%ﬁ%ﬁ%?%?***********************************************/

#include <string> //#lvector & —fFH], ZHFREREPILII, /EMLIFHIRMAT L ETTA AR IE
#include <vector> // WA NKY, TIFREREPLL I, /2 A2 TR E N ETA Wk 702 A GETR 1%

#include <list> // X/mtE#, HNZFERNF U, 4 List FHIERE L ETFA TSR a5 R #

//forward_List H#/mfEF 1] H #ngid 25 F 548 m fEF 40 5 1 1 GE -
#include <forward_list> //H/jfE&, HXIFR YT, FREZAFRNETHA T ARG 2 c++11 FrMHIbritE

// 7E queue HIHEI7 BTN B MR 0 21 C1r il iR e
#include <deque> // X7, XIFPFEREPLITIH (EEEMYTFFRETCTY) o MELSE N7 B L FGA TG /2 TR

/1 GHE B, BN 2R
#include <array> //EERANLND, ZHFRE, PRERWNZEWG T, 2 c++11 FIWHIFRIE, ZTFE G H 2275 T F

/) A PR i i L a1
#include <stack> //F#cZiH, ZTFFTIHTEE A HFEIRIE, AFHIH Ml eB A AT 5 (T

/*************************************************ﬂﬁy?é?%g***********************************************/

/************************************************fjéﬁ%?%g***********************************************/

#include <map>



#include <set>

SRR R BB B = = mm e e e
1) EHGE
1. iterator/const_iterator/size_type/difference_type/reference/const _reference

2) &R

1. Cc /) IR A i ki 4, L2

2. C ci(c2) /R IE R, G2, A

3. C c(b, e) [J/HHIEFRE, iHZ, EC# b, e 157 HITT 761 18
4. Ccfa, b, ¢, ...... } /ARG A, SR

3) JR{E5 swap
cl = c2
cl=A{a, b, ¢, ...... }
a.swap(b) /7 1 3 BRI 3 e kR £
swap(a, b) /) FE 7 ERE R 3T e 2

4) A
1. c.size() [/ KBE#HLD,
2. c.max_size() // Bk Z i (RIFHIZHE
3. c.empty() /[ I8 [ 7R AT

5) IRImER o #
1. c.insert(args) /[/#GEAITLZE
2. c.emplace(inits) //fE/Hinits #i&c BHg—1 5
3. c.erase(args) // W T Z



6) HE(CH
1. c.bengin() c.end()
2. c.cbegin(), c.cend()
IR EACaF I A
reverse_iterator
const_reverse_1interator
3. c.rbegin(), c.rend()
4. c.crbegin(), c.crend()

¥ ST BAYGIMENY e == == == <= mm e e

1) ZHERZHFREYL )], vector queue

2) FRIFHR A IGA ZCE WG s 7, TEFEE] List 207 forward_List

3) WIRFESF R 21524 il 2 JE i A MR 20, T FE(EH queue

4) WIRNHIEE PRI 75, TAEFEFHNE List flvector 4%, H-HNEHLECH T IEH FlriglE

Y et T TP PP BEAHIE K BERJHG == === === == e e e e e e e
Cc ARG/ E, 7 c 21 array, THITECURIIGETE, FAE vector SENE 7545

C ci(c2) cl #FEIE S c2 HIFEDL, W [AIFHZE 7,  HIRIFHIM AR T 957, F42 array, &S Z0E I A D
Ccl=c2 el [

Cc{a, b, ¢c,...} XfTarray, ZIFZ PG F LT T array H9 )
Cc={a, b, c,...}

C c(b, e) ¢ HHGIENEACaT b, e TEEE T 70 1975 N
/I RG N7 2554 I FHIERA -

C seq(n) seq Gl7n 1L, XL AT T 1HR4E
C seq(n, t) seq t4& n NG VIE t HI7CF



// T array 5.
array<int, 46>

___________________________________________________________________________________________________________ */
/Ko JEAE R SWap() === === === === mmmm oo
cl = c2 c2 Jajcl ##II
c ={a, b, ¢c,...} HFREH, 7array 1EH, B array KRHE X CERATIEERE?
swap(cl, c2) KI5 49 70 %
cl.wap(c2) /Al L
//assign HEIFAGE G KIFER # A array
seq.assign(b, e)  [EHECHE b, e BBz 1w &
seq.assign(il) 1 I 72T R
seq.assign(n, t) & n MKt I E.
// &/ swap () KPP AN T AT T, FrelE/ERIE bk array LISf
G —(E/H IR swap () AE—IMRAFHIZEFE

vector<string> svecl(10);
vector<string> svec2(20);
swap(svecl, svec2);
___________________________________________________________________________________________________________ %/
/K e A - R e C e P e P PR
> < == : [Eflstring FHFERIHEER R, HBEEBHITEE X THRASET, F 0] U2 A
size() IR ] 75 I F T 1N
empty() BT
max_size() ZHHE R BN TEHHT 120

//forward_List N HFsize() #IE, SR A ER R A EL T 5 H iR —F
___________________________________________________________________________________________________________ %/



//forward_List  ZFHE/TH)insert fllemplace, 1~ 3% /¥ push_back Filemplace_back, vector/string f~3%7##push_front
LIK emplace_front, BAGLEZE#E1F, (HEXN T insert(begin, . .. ) R HR#E/

c.push_back(t) £ c WEHBIZ t 2 args G112, &/ void

c.emplace_back(args)

c.push_front(t) 7E ¢ WL t B2 args GE#HI %, K/F void

c.emplace front(t)

c.insert(p, n, t) TEEACH D ZHIHEA n IME Kt B0, BRI E — 1w HECE, Zn & e, JEH p
c.insert(p, b, e) FE(Cas b, e FEIHIILE . FITEAZ] p G a#as w2 i, BEZINIE — 10 Z 115 C4

//insert ENIFETIGEA N, Hie, 1, 2}/Ibegin #GA{3, 4, 5}#{3, 4, 5, @, 1, 2}
// Ji]—1" vector/string/deque '11HIATL 2 L 1E N B 15 17 B a1 Cass G 1551 K50
/7 ZENET — TN R B Z5HT BT FITAZEZE T, BRI ZR TR RG] — T FEI P2 H T I

//vector flstring % #F push_front()#E/E. Jij List. forward List. deque % #Fpush _front()#&/E; push_front /& —flFFH74 %
//emplace_back emplace emplace_front &L 174510 E EEREXNR, TTAAEFEN. emplace_back(args)

>k 3K 3k 3k >k 3k 3k 3k 3 3k 3k >k 3k 3k 3k >k 3k ok 3k 3k 3k 3k >k 3k 3k Sk >k 3k 3k 3k Sk >k 3k 3k 3k 3k 3k Sk >k 3k 3k 3k Sk >k 3k 3k Sk >k 3k 3k 3k 3k sk 3k >k 3k 3k Sk >k 3k 3k 3k 3k sk 3k >k 3k 3k 3k 3k >k 3K 3k Sk 3k 3k 3k 3k 3K 3k 3k 3k 3K 3k 3k 3k >k 3k 3k 3k >k 3k 3k >k 3k sk 3k >k 3k 3k 3k >k 3k ok >k ok sk k ok

e, KR T forward _List AE—NEEAIELET . front(), LUK c.back() kA, H LUK [ 2R B E T F 195
at Fl FEHRIEAE S string vector deque array UIFE#SR, JWZHEH out_of _range #4i%

Sk 3k 3k sk ok sk 3k sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk Sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk >k sk sk sk sk sk sk sk sk sk ok sk skook sk skosk sk k sk
LI FHAEAE G array , [ ARt (ES BRI, A& T array

c.pop_back()  //WEE c FHIETLZ, £ c TR E AT H9AKE K

c.pop_front() /J/MWEEM LI, £ c 97, JREAKE X

c.erase(p) /R ELCas G i 73 B[ — N5 i B 70 2 2 Ja i 7c #1941, 4 p 18R g — 1703, W&k
// B ST

c.erase(p, e) /[/MWFECHb File &AL, B — T EFEIR G TG IT T 7T #9248, & e KG14E
/IR 1T E, A HEEEEC,

c.clear() 1/ W 19 7C %



//PS: W deque /5 B FEZ SF I B T F A S (EFF I AU, FI/HEGHTFE KA, 157 vector LUK string IR £ 2 Ja L EHY
KAt G TEERAC

Sk 3k 3k 3k 3k ok 3k 3k sk 3k ok 3k ok Sk 3k ok sk ok Sk sk ok 3k ok Sk 3k ok sk ok Sk sk 3k ok sk sk sk sk ok sk sk sk sk ok Sk sk sk sk sk Sk sk sk sk sk Sk sk sk sk sk Sk sk sk sk sk sk sk sk sk sk Sk sk sk sk sk sk ok sk sk sk sk ok sk sk sk sk ok ok sk sk Sk sk ok sk sk Sk sk ok sk >k sk sk ok sk >k Sk sk ok sk sk sk sk ok
forward_List #FHHIH(F: forward_List<int >lst

Lst.before begin()

Lst.cbefore begin() iB/A B Fi/C#

Lst.insert_after(p, t) HL&fC#p ZITiiAKE t HIXI 5
Lst.insert_after(p, n, t) n PMENt HIWF KR T I HEA I E LT,
Lst.insert_after(p, b, e) n IMENt HIW R KA T—HEAHIICE I/,
Lst.insert_after(p, il) n IMEHt HIN R BIFER T —NGAHILENTE
emplace_after(p, args) 7 p Z/at)# T

Lst.erase_after(p) Mk p ZJTHI7C 7, B IE—T8ME 7072 Il 70 2 14 A
Lst.erase_after(b, e) ME[p, e)HIinz, ARG — MG 70252 7 i 70 2 1751 T

>k 3K 3k 3k >k 3k 3k 3k K 3k 3k >k 3K 3k Sk >k 3k 3k 3k 3k 3k 3k 3k 3K 3k 3k >k 3k 3k 3k Sk >k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k 3k Sk >k 3k 3k 3k 3k 3k 3k 3k 3k sk Sk >k 3k 3k 3k >k 3k 3k >k 3k sk Sk >k 3k 3k sk 3k >k 3k 3k 3k >k 3k 3k 3k 3k 3k 3k 3k 3k 3Kk 3k >k 3k 3k 3k >k 3k ok >k ok ok ok ok ok sk k kok

//resize() AiE A array
c.resize() B c BIKD K T, AL, THE

c.resize(n, t) M

>k 3k >k 3k >k 3k 5k 3k sk 3k sk ok ok ok ok ok ok ok ok sk 3k ok 3k sk 3k sk sk sk ok sk sk sk ok sk 3k sk 3k sk Sk sk ok ok sk sk ok sk 3k sk sk sk ok sk ok ok ok sk >k sk sk ok sk 3k sk 3k sk 3k sk sk sk Sk sk ok ok sk ok Sk ok Sk sk Sk ok ok sk ok ok 3k sk 3k sk ok ok ok ok ok sk >k sk >k ok ok ok ok ok ok k k >k

c.capacity() B[ TEAT KT G T ] AR ZE D T %o
c.reserve() DI ELFEZE N 10 F AT ]

c.size() B Z b
___________________________________________________________________________________________________________ */
A L L L EEEE BN String FYia 7y /=== === === s mm s o m s e e
string s(cp, n) s & cp 1EIEATH n T FHHIFEN, HEHE LM IZE G n 157

string s(s2, pos2) s & s2 M Ftrpos2 FFLH97 0,
string s(s2, pos2, len2) s /2s2 M Firpos2 745, K/ZH Len2 HIFEN



s.substr(pos = @, n = s.size() - pos) //IB[A—7  string €75 M pos F4EHT n 1NF AT HIFE I
string s("hello world");

string s2 = s.substr(o, 5); //s2 = hello
string s3 = s.substr(6); //s3 = world
string s4 = s.substr(6, 11); //s4 = world
string s5 = s.substr(12); // W Hi—7" out_of_range

// Bk T2 insert () filerase () #1F, string @G L FHIEERAE, #4217 pos Z FiilAZE MR, F77F FiriMm e FF-4aH7
//string @FEHE TSR A append( ), replace() . append() Z7E string FK/EMA N —F1HEE, 7 replace i/ erase() #
//insert () 19/ 5/

s.insert(pos, args) //7Epos ZFIHiA args 15ENTF1F, pos Z1 FEEL &t —NEICHE, B2 FERAK E—1N 5/ s 1
FIHH, B2 CAE I IRAIE [ 5 1) 55— TGN F AT C 7%
s.erase(pos, len) 1/ WM pos LFF4a 1T Len 1~F7F, 41K Len Z ST pos H4GHIPT G 711 & [AI—1E17 s 197/
s.replace(range, args) //#kk range HHIC3, E#HeHargs HG %, args i LUE— 1 FEEN— T KE, 2i&—x&CH, &
R [E]—1NE 1 s 1991/

s.append(args) // ¥ args WA F|s FIEHS, BIE—1 757 s #7711

s.assign(args) // ¥ s FHIFIFEHA args FF, & e —1 5

Sk sk 3k 3k sk 3k 3k sk sk 3k sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk ok sk sk sk sk sk sk ok sk sk ok
string K974 % % :

(1) s.find(args) /BT s K HIHIL B, FHB [T 738 15— PP R

(2) s.rfind(args) /) BHRT T ..

(3) s.find_first_of(args) //1Fs HE&H args HIET— 1 F 0I5 — K HBHIL E
(4) s.find_last_of(args) //iEs T&# args T — 1 Fii @G — K BRI E
(5) s.find_first_not_of(args) //iFs HEHTF 1 args FHIF7F

(6) s.find_Last_not_of(args) /) BIHRIT—IAF args FHIFAT

(1) args LUAELL FHIE:
(c, pos)  Ms {7 & pos HFiaE#H 777 c, pos #tile.
(s2, pos) Ms H1fr& pos IF4aE# 7774 s2, pos #il 0.
(cp, pos) Ms F7E pos H4HETE cp 75IHHTLL A F 1T 45 1T C MIEF 774, pos Zil %y @
(cp, pos, n) Ms H#{7E pos 4G ETLTTE cp 75/ HIEA TR n 1~F 7. pos Fln LECiA1H



Sk 3k 3k 3k 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k ok Sk 3k 3k Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k ok 3k 3k Sk 3k Sk 3k 3k Sk 3k Sk 3k 3k Sk Sk sk ok sk sk Sk 3k ok 3k ok Sk sk ok Sk sk sk sk 3k ok sk ok sk sk ok sk ok sk sk ok sk ok sk sk ok skook skokok
compare i#: X5 C prifEl, FEHLHT stremp TRAGI:

(1) s.compare(s2) //H#s fls2

(2) s.compare(posl, nl, s2) //4%posl HLGHTI/EHnl J)Fi7 8 fl s2 HITH

(3) s.compare(posl, nl, s2, pos2, n2)

(4) s.compare(cp) //H¥s 5 cp 15/AHTEL 15 45 B 19577 2041

___________________________________________________________________________________________________________ */
Y et TP B A I = = = == == e e e e e
// 5 7 string vector List forword_List deque array “FMi/7Z#2 4f, 4 X I queue stack priority queue ZEiZl#%
(1) stack 1/t TEAJTHIEEH,
(1) pop()
(2) top()
(3) push()
4) empty()
(2) queue //BFY, PERG S, (HZZHTF deque EHHT, priority _queue #ZFEF vector SEHHT
(1) q.pop()
(2) g.top()
(3) q.front()
(4) g.back()
(5) qg.top()
___________________________________________________________________________________________________________ */
/K R A = = = m == m

/) IR T E A e B R 1, 724 map Fl set Wift. Bl multi LK unorder Fi—Jt5 /\ Fl B 774
KRB HE: B =R TAEHIFET key _value mapped_type value type //
B A first. second 1S, first 22X, second &, HIT FHEHHIIIR, ZICH NN, WA D55 G/ &R E N,
HHEH0; 2 FZ) M
iy set {9 find() BEl, 62 7K [0iZor F A Ca, 162K EE G5 Ca
/) FKIBEZE NI HAR N — & B L IGE T, BRI ATTAZE AT 2 U B 1% F 7 HEF 1 ;
/) FEZE A map HIFKAE(E A2 const ZEZY T set B/ CARHLAE const 82, HIECHE L FF++ 11T
Sk 3k >k sk sk sk >k sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk skosk sk skosk sk ksk
pair F57H:
(1)pair<t1, t2>p()



(2)pair<ti, t2>p = {vi, v2};
(3)make_pair(vi, v2)
Sk 3k 3k sk ok 3k 3k Sk 3k 3k sk ok 3k sk ok 3k 3k skook 3k sk ok 3k 3k sk sk 3k sk ok sk ok 3k 3k sk ok 3k sk ok 3k 3k Sk ok sk sk 3k sk ok 3k 3k sk sk 3k sk ok 3k 3k Sk sk 3k sk ok 3k 3k Sk 3k 3k sk ok 3k 3k Sk sk sk sk 3k sk ok 3k sk Sk 3k 3k sk ok sk ok sk sk sk 3k >k sk ok 3k sk sk ok >k skook >k sksk sk k sk
c.insert(v) X/ 7Fmap set 25v BT HITIGEA RS
c.insert(b, e)
c.insert(il)
// FEA AT K o] —1> pair Z57, pair [) second ik A2 —1 bool 1, K/AIEHIGEASLIIIKE true, first it (71 #7515 value #
21
std: :map<std: :string, int>word count;
std::string tmp;
while (std::cin >> tmp)

{
auto ret = word_count.insert({ tmp, 1 });
if (!ret.second)
//++word_count[tmp];
++ret. first->second;
}

auto begin = word_count.begin();
while (begin != word_count.end())

{ n n

std::cout << begin->first <<
++begin;

<< begin->second << std::endl;

}
(2) i/ multimap LK multiset HFHEATC 2, T —INEHBENTIECH, KRE second, B4 ZHTIA — &/
(3)map 1] T HrilE:
(1) c[k] // P2 e —1 mapped_type A7 7] HEE(FZ K [E]—1  value_type
(2) c.at(k)
(4)Find() 7#1F
#l: if(word_count.find("foobar") == word_count.end())
HZ DR —T multimap 267 multiset HINT1E, HI T HG AT FHTEL A 72018 count TR #H, A 1EH
find() BREHIR G — 103, KT (EHIEH 5T
A LU [T 1] A Cas I e 772 :
Lower_bound() upper_bound() FKMFH, Fi& 15 —TVLEHIRE T, &85 RV T, 4L A equal_range K3
HAFAERE—1 pair, first 75/5—7", second 75/ )T —"1 - LA, WaEE [FITE 0 8] LIFGA #9107 &



>k 3k 5k 3k >k 5k ok >k >k ok 5k >k ok ok 3k >k ok ok Sk ok ok 5k >k 3k ok 3k >k ok ok ok 3k >k ok ok Sk >k ok 5k >k ok ok ok ok >k ok ok 3k >k ok ok Sk >k ok ok >k ok ok ok >k ok ok 3k >k ok ok >k ok ok ok >k sk >k ok ok >k ok ok 3k >k ok 5k >k >k ok ok 5k sk ok ok ok >k ok ok Sk >k ok ok >k >k ok ok ok ok ok ok ok ok ok sk kok

Y e ST STring foaes 7y 7= === = == === s m e e e
42 string vector array Llist forward List deque queue stack map multimap set multiset tuple bitset Fr L FFHIEEIELIK
EH

#include "myString.h"
#include "myVector.h"
#include "myList.h"
#include "myForward_list.h"
#include "myDeque.h"
#include "myArray.h"
#include "myMap.h"

#include "mySet.h"

#include "myAlgorithm.h"
#include "myStackAndQueue.h"
#include "tupleAndBitset.h"

int main()

{
myStringTest();
myVectorTest();
myListTest();
myForward_listTest();
myDequeTest();
myArrayTest();
myMapTest();
myMapTest();
mySetTest();
myStackTest();
myQueueTest();
tupleAndBitsetTest();
myAlgorithmTest();
system("pause");
return 0;
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